IR SIS RE

EK %% (M FEEER) 317 AF %% (ZiEH) 324
EF 33 (OfZsziEEl) 318 SEEZISEE WBK #l 325
BK &3l (FoHZEREHE]) 319 ZEZRHENIRY :

BF %3 (F5H2i5M) 320 (EER) FK, EK, AK 5l 327
FK 3 (BFEEEH ) 321 (%158l ) FF, EF, BF, AF, EF 23] 328
FF 333 (BRZsZIEH) 322 (EERI) BK RS 329
AK 31 (EERI) 323

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net

316



UAF S2 15 B2 (nrmem)

SUN HOIST

EKO05

AiamaiE
i FEEE#E/Housing

=

1

45 /Bearing

146 / 1set

B R/Holding lid

fEFEEICollar

FhiliSeal

SHEIFIS/Lock nut

P ELETIR RIS
Hexagon socket-head
Setscrew(with set piece)

(EK05~08)

20X
20X arill

EK10 ~ EK20

(EK10~20)

+0.02 | £0.02

317 SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966




U S2 15 BE (npsmm)

HimEiE =

SUN HOIST

FHREE A/ Housing 1
U7 /Bearing 148 7 1set
CEIEE/Snap ring 1

2-pxMFOvIRZ
2-X erill @Y counter bore deoth Z

-

—

- ——

c I
J

b h FRME ERCRINE

+0.02 +0.02 Bearing Snap ring 8

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




UAF S2 15 BE semem)

SUN HOIST

Bl =

FH R EE &S f2/Housing 1
8 7/Bearing 148 / 1set
B ffR/Holding lid 1
fEiEE/ Collar 2
fliliSeal 2
HEIRIR/Lock nut 148 / 1set
7 AL AR 8 5

Hexagon socket-head 1
Setscrew(with set piece)

4-PXMFOYIRRZ

+0.02 £0.02

SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966




URAF S2 15 BE 5

Him =i =

SUN HOIST

il EEZ#E/Housing 1
Ui F/Bearing 148 / 1set
CEIHEE/Snap ring 1

20X INFOYIREZ
2-X arill @Y counter bore deoth Z

b h cRmz B8

CHiE ER

+002 +0.02 )

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net




SUN HOIST

IFAESIFLE

A EREEE)

FK 5|

4-OXRFOYIRIRZ

4-X drill @Y counter bore depth Z

-0.009

S

IRt
il EE A/ Housing

=

1

i 7/Bearing

148 / 1set

[B#f/Holding lid

1

i Bl Collar

2

fii¥liSeal

2

@ (| & W (M

$HE|0RIE/Lock nut

148 / 1set

7B {TR#I S
Hexagon socket-head

Setscrew(with set piece)

1

FK10 | 10 | 27 | 10 | 17 |29.5| 34 0993 | 52 | 42 | 42 (75| 5 (85| 6 |45| 8 | 4 | M3 | 16 [0.23
FK12 | 12 | 27 | 10 | 17 |295| 36 0092 |54 |44 |44 75| 5 | 85| 6 [45| 8 | 4 | M4 | 19 |0.25
FK15 | 15 | 32 | 15 | 17 [ 36 [ 40 599% | 63 | 50 (52 (10| 6 | 12| 8 |55(95| 6 | M4 | 22 [0.39
FK17 | 17 | 45 | 22 | 23 | 47 | 50 0092 [ 77 |62 [ 61 | 11| 9 | 14 [ 12 |66 | 11 | 10 | M4 | 24 | 0.81
FK20 |20 | 52 | 22 | 30 | 50 | 57 0073 | 85 | 70 | 68 | 8 | 10 | 12 | 14 | 66 | 11 | 10 | M4 | 30 [1.02
FK25 | 25 | 57 |27 | 30 | 59 | 63 0010 | 98 (80 | 79 | 13 (10 | 20 [ 17 [ 9 | 15 | 13 [ M5 | 35 | 1.48
FK30 |30 | 62 |30 |32 |61 | 75 0039 [117| 95 | 93 [ 11 | 12 | 17 | 18 | 11 [17.5| 15 | M6 | 40 [2.32

321 SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411

FAX : 886-4-2536-1966




FF 3|

URAF 215 B2 mr=mm)

SUN HOIST

Him =i =

1 R EEE R/ Housing 1
2 Ui F/Bearing 148 / 1set
3 CE#HE/Snap ring 1

4-OXIMBFOYIRIRZ
4-X arill @Y counter bore depth Z

ER#ME ERCRNR

Bearing Snap ring

FFlo | 8 [12 | 7 | 5 | 283097 | 43 | 35 | 35 | 34 | 65 | 4 | 6082z S 08 0.1
FF12 | 10 [ 15 | 7 | 8 | 340999 | 52 | 42 | 42 | 45| 8 | 4 | 60002z S 10 0.13
FF15 | 15 [ 17 | 9 | 8 | 40999 | 63 | 50 | 52 | 55 | 95 | 55 | 60022Z S 15 0.2
FF17 | 17 | 20 | 11| o | 50099 | 77 | 62 | 61 | 66 | 11 | 65 | 62032Z S 17 0.33
FF20 | 20 [ 20 [ 11 | 9 | 57 3910 | 8 | 70 | 68 | 66 | 11 | 65 | 620422 520 0.43
FF25 | 25 | 24 | 14 | 10 | 63 09%0 [ 98 | 80 | 79 | 9 | 14 | 85 | 62052z S$25 0.66
FF30 | 30 | 27 | 18 | 9 | 75 90% | 117 | 95 | 93 | 11 | 17 | 11 | 62062z $30 1.03

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net 322



AK 75
URAE S 15 EE (=rem)
SUN HOIST

AK10~AK15 AK20

= 2, | b

2-0XINFOYINRZ
2-X eIl @Y counter bore depth Z

I |
T |
r- E |
! : !
L P o AKIO~AKIS L1 | L _1
— B—— -—
(L2) : L3
P
L5)
! o~ \2/
i AR e @ 2 /
: '. /
1| BREEEATE/Housing 1 }_| B
2 T #/Bearing 146 / 1set il: Jf& f ]] :
3 EEtf/Holding lid 1 y \{:_/.'
4 iR E/Collar 2 | | B Ny | /
5 #R3l/Seal 2 _ l /
6 | IREERIE/Lock nut 138 / 1set T == T~ ' Al
2 |1 wl |

PO LEAT AT // o C/J rf.\v i | ][
7 Hexagon socket-head 1 ’(6\‘/ ( [ | b i

Setscrew(with set piece) )/ — Ll C3i

£ C1 C2 C3 E=®
+0.02 +0.02
AK10 | 10 | 24 6 [295| 6 70 | 43 35 25 |36(35(52|9 |14 |11 |(M3|16| - | - | - 0.5
AK12 | 12 | 24 6 [205| 6 70 | 43 35 25 [(36(35(52| 9 |14 (11 (M4|19| - | - | - 0.5
AK15 | 16 | 25 6 36 5 80 | 49 40 30 |41)|40 |60 |11 (17|15 |M4|22| - | - | - | 062
AK20 | 20 | 42 | 10 | 50 | 10 | 95 | 58 | 475 | 30 |56 |45(75(11|17|15|M4|30|22|10| - | 1.43
AK25 | 256 | 48 | 12 | 59 | 14 | 105 | 68 | 525 | 35 |66 |25(85 (11| - | - |M5(35(30| 9 |24 | 1.92

323 SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966



AF 37|

U T SZ 15 JEE (<zmpm)

SUN HOIST

(AF10~20)
- BEEH B=
1 5 EEA 8/ Housing 1
2 i F:/Bearing 148 / 1set
3 CHIH1ER/Snap ring 1
|
2-OXIRFOYIRRZ
2 Aiieaier bore cholh 2 B1

ERmE (ERCRIIR

Bearing Snap ring
AF10 8 20 | 70 | 43 35 25 36 [ 35 |52| 9 |14 | 11 60822 S 08 0.36
AF12 10 | 20 | 70 | 43 35 25 36 [ 35| 52| 9 (14 | 11 | 6000ZZ S 10 0.36
AF15 15 20 80 49 40 30 41 |40 | 60| 9 | 14| 11 6002ZZ S15 0.44
AF20 20 26 95 58 47.5 30 56 | 45 | 75 | 11 | 17 | 15 | 6204ZZ S 20 0.73
AF25 25 30 | 105 | 68 52.5 35 66 | 26 | 85 | 11 - - 620527 S25 0.95

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net 324



WBK !

SUN HOIST

- LISt =
il R EE A #E/Housing 1
Ui F/Bearing 140 / 1set
[B#f/Holding lid 1
[E3EEEE  Collar 2
ftd/Seal 2

TP 7
== v

L

DFD{EE

WBK 17DF 17 | 70 | 106 60 | 32 | 15 88

w | w

WBK 20DF 20 | 70 | 106 60 | 32 | 15 88

WBK 25DF 25 | 85 | 130 66 | 33 | 18 110
WBK 25DFD | 25 | 85 | 130 81 | 48 | 18 110

WBK 30DF 30 | 8 | 130 66 | 33 | 18 110

WBK 30DFD | 30 | 85 | 130 | 90 | 81 | 48 | 18 110
WBK 35DF 35 | 95 | 142|102 | 66 | 33 | 18 121
WBK35DFD | 35 | 95 | 142 | 102 | 81 | 48 | 18 121

WBK 40DF 40 | 95 | 142 | 102 | 66 | 33 | 18 121

£ - N S R - N

WBK40DFD | 40 | 95 | 142 | 102 | 81 | 48 | 18 | 106 | 121

325 SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966




WBK #!

SITEXIEFE

SUN HOIST

4PdpQPCOOY 4-P dp Q PCD @Y
Ml E (both sides) / . Mimma(both sides)

8-9X
e oY
\ % Z PCD @W
8-X drill @Y counler bore
depth Z PCD oW

6-@X
e ay

% Z PCD @W /
6-X drill @Y counler bore
depth Z PCD oW

A A
#HEed=30 #Eod=35
Shaft diameter @d=30 Shaft diameter @d=35
L1 L3

TR
S

@D3
M
[

il N — - [ - .
L3
SERE L5
Luck nut L4
L
Dimensions of shaft end
BEXEEE FR 214 L] ) #EE)
A g8 e s s B 756
Ca(N) (N) (N) (N/um) (N-cm)

WBK 17DF 21900 26600 2150 750 14.0 M17x1 37 18 1.3 di 81 23
WBK 20DF 21900 26600 2150 750 14.0 M20x1 40 18 1.9 20 81 23
WBK 25DF 28500 40500 3150 1000 23.0 M25x1.5 | 45 20 34 25 89 26
WBK 25DFD 46500 81500 4300 1470 31.0 M25x1.5| 45 20 [ 38| 25 104 26
WBK 30DF 29200 43000 3350 1030 24.0 M30x1.5| 50 20 34 30 89 26
WBK 30DFD 47500 86000 4500 1520 33.0 M30x1.5| 50 20 LT 30 104 26
WBK 35DF 31000 50000 3800 1180 28.0 M35x1.5| 55 22 | 375 | 35 92 30
WBK 35DFD 50500 100000 5200 1710 37.0 M35x1.5| 55 22 4.3 55 107 30
WBK 40DF 31500 52000 3900 1230 28.0 M40x1.5 | 60 22 36 40 92 30
WBK 40DFD 51500 104000 5300 1810 38.0 M40x1.5 | 60 22 4.3 40 107 30

http://www.sunhoist.com.tw

E-mail: shicoltd@ms23.hinet.net

326



Zz#inl TRY (EER) FK, EK, AK 35|

IFAE SIS L

SUN HOIST

PRImERSE NG
= M
M5x0.5

M8x1
M10x1

10/12
12/14/15

B

4

B M6x0.75
: |
8

14/15/16 08 10 M12x1

18120 08 12 M15x1

20/25 15 M17x1
25/28/30 17 M20x1
30/32/36 20 M25x1.5

36/40 25 M30x1.5

327 SUN HOIST Co., Ltd. TEL : 886-4-2536-2411 FAX : 886-4-2536-1966




ZiZghiml TRY (2%/) FF, EF,

BF, AF, EF %5

R

>~

+0.0
@B o2

+0.14
-0.0

SUN HOIST

RERIR BN ST
d |
FF10 | EF10 | BF10 | AF10 12/14/15 g D80 | a0 7.6 7.9 0.9
FF12 | EF12 | BF12 | AF12 14/15/16 1 oo 11 96 9.15 1.15
FF15 | EF15 | BF15 | AF15 18/20 15 -0-000 13 143 10.15 1.15
FF17 - BF17 ’ 20/25 ihos 16 16.2 13.15 1.15
Fr20 | Er20 | ®F20 | AF20 2528130 | 20:99%% | 19¢16) | 19 15.35(13.35) | 1.35
FF25 - BF25 . 30/32/36 265 ool 0 23.9 16.35 1.35
FF30 - BF30 - 36/40 309018 21 28.6 17.75 1.75
. : BF35 - 40/45 as 22 33 18.75 1.75
: 2 BF40 : 50 409008 23 38 19.75 1.75

http://www.sunhoist.com.tw E-mail: shicoltd@ms23.hinet.net 328



i o i S

329

IFEIE

23

Zzgim I TRY (EER) BK 33l

SUN HOIST

|
s JUEIINIIO))3
L H

aD

@B h7

od

IRTRIRIFE S EimEP AT NG
d M
BK10 12/14/15 g 0.008 8 36 15 M10x1 12 5.5
BK12 14/15/16 1200 10 36 15 M12x1 12 55
BK15 1820 15'8?3?? 12 0 | 20 M15x1 12 6
BK17 20025 170008 | 45 53 | 23 M17x1 17 7
BK20 25/28 2D oo 17 53 25 M20x1 15 8
BK25 32/36 gh Do 20 66 30 M25x1.5 20 9
BK30 36/40 Sog s 73 38 M30x1.5 25 9
BK35 45 aselone 30 82 45 M35x1.5 26 12
BK40 50 400008 35 94 50 M40x1.5 30 15

SUN HOIST Co., Ltd.

TEL : 886-4-2536-2411

FAX : 886-4-2536-1966




	崧禾-內頁316-141205
	崧禾-內頁317-150320
	崧禾-內頁318-150320
	崧禾-內頁319-150320
	崧禾-內頁320-150326
	崧禾-內頁321-150320
	崧禾-內頁322-150225
	崧禾-內頁323-150320
	崧禾-內頁324-150326
	崧禾-內頁325-150320
	崧禾-內頁326-150225
	崧禾-內頁327-150320
	崧禾-內頁328-141205
	崧禾-內頁329-141205

